100 - 110

dY = —-A

Rigld: welght = 0

Moteriali Same as Line Pipe
Temp = Line Temp

Press = [

Corr Allow = 0O

Insul Thk = 0

56 =0

A& — 1.3 x NPS
B - 05 x 0D
C - Base Ell Height
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10 - 120

dY = —-B

Materlal: Some as Llne Plpe

Rigid: weight = 0

Restraint 120 Anchkhor) Chode - 130
Temp = éAmklent (70°F>

Fress = [

Corr allow = 0

[nsul Thk = 0

SG =10
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110

NPS of Support Pipe
per Indicoted support
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130 — 140

dY = -C

Moterioll Same as Line Pipe

SIF ot 130 = 2 "Unreinforced”
Restralmt 140 ¥ [X, Z |f applicable]
Temp = aAmbkient (70°F)

Fress = 0

Corr éAllow = 0

Insul Thk = 0

SG =0
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£ 140
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BASE ELL MODEL - AT ELBOW

110 — 120

oY = —-A

Materlali Same as Llne Plpe

Rigld: welght = 0

Restrolnt 120 Anchor) CNooe — 130
Temp = Amkient 70°F>

Press = 10

Corr #llow = 0

Insul Thk = 0

SG =10

A& — 05 x OD
B - Base Ell Helght

& & & & & & @+ & @

— 140
¥ = -B
Materloll Same as Line Plpe
SIF at 130 = 2 “Unreinforced”
Restraint 140 Y [X, Z if applicakle]
Temp = Amkient (02
Press = [
Corr Allow = 0
Insul Thk = 0
SG =0

NFS of Support Fipe
per indicated support
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